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EE-305 (GS)
B.Tech., III Semester
Examination, June 2023
Grading System (GS) .
Network Analysis

Time : Three Hours
Maximum Marks : 70

Note: i) Attempt any five questions.
o g we=T @t g1 DTl
ii) All questions carry equal marks.
1t weAt % |H 3 B
iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Find the current through each of the three resistors of the
circuit shown in the picture. The emf sources have
negligible internal resistance.
firm ¥ Ry 7q wfbe & o ufRl ¥ v S e |
oA AT FRE 1 9aT TG emf WAl 3 F10F RS

ufeRY 8
nov 5.000
—
2.00 1 []-mnn | wov
I
I‘u..w
EE-305 (GS) PTO

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(2]

(3]

b) A;n impedance Z, = 10 + j10£2 is connected in parallel b) Applythe Milliman's theorem and find the current through
with another impedance of resistance 8.5 £ and a variable " 109 resistance
capacitance connected in series. Find C such that the ' ; orezrT |
circuit is in resonance at 5 KHz ﬁﬁrﬁsmqawﬂuaﬁaq\aﬁaﬂqmﬂnﬁimﬁi
T Ao’ Z, = 10 + j10Q & g wioamr gy e P gar dAnd)
8.5 Q & \re AR ¥ AR 1 ARwwar FARSw e
A ST 830 81 C &1 AW 3/ WS T hifore. 5 afkaer
5 KHz TR uferafia &
a) For the network shown in figure below, draw the graph o
and write down tht: Tie atrix,
4 fRu e R Ry a7 Yead & R, 1w iR st
aﬁaﬂﬁwiﬁ%g% 4. ) In the network shown in figure, the switch is closed at
‘Q\ +=0 and there is no initial charge on either of the
Capacitor. Find the current i(f) by Laplace Transform
method.
R ¥ foxame T ead A, ([T =0 W 43 & SR e ot
FARTR R D SR Tt 1 B Ak gennt Rt 2
e i(f) T I
b) State and explain Norton's theorem with suitable example. s 100
V55T 35 ST Y SORRT STEReT e Ry e T _L—o"i e L o
a) Find the voltage across 102 resistance using super i AEH
position theorem. > a
ARG WY &7 HEN A §Y 10Q WRRY ¥ o - €
diees sa Hiforg )
b) Verify the initial value theorem for the following function.
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a) For the waveform shown in figure below. Write the
expression and find the Laplace transform.
= Ry e R & R e g9 & v e ey sl
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b) Find the Fourier S@§‘m‘ the waveform as shown below.
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a) Find the Trigonometric Fourier series for the waveform
as shown below.
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State and discuss the restrictions on pole zero locations
for driving point function and transfer function.

SRR R wfeEtl o Iga Y iR a9t e

Determine the Y- parameters of the network shown in

. figure.
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A two port network has the Z-parameters Z,,=20%,
~=30QandZ,,=Z,, = 402 then find the ABCD and h-

parameters for the network.

o 2 9 Jead ¥ Z-OReiie € Z,,=20Q, Z,,=30Q 3R

Z,, = Z,, =402 ATE fart ABCD 3R h-3vmie s

CalE

. Write a short note on any Two:

Terminated two port network

ii) Controlled and uncontrolled sources
iii) Final value theorem
iv) Exponential Fourier Series
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